Elephant foot assembly

MC6S M8x40

MC6S M8x40
J

Mounting instructions

To assemble the bottom part of the elephant foot setup,
place the aluminum lock pin into the intended slot as
illustrated in the image above. The aluminum lock pin
can only be placed so that its handle points right when
you have the “horseshoe opening” facing you.

Thereafter you place the top part on top and use the
three included MC6S M8x40 stainless steel bolts and
connect these three bolts to the three distance rods.

Notice there are two different sizes of rods included
with each elephant foot, and for this part, it is the wider
diameter rods that should be used.

Do not fully tighten the M8x40 bolts at this step.

Elephant foot safety prop assembly

MC6S M8x20

MC6S M8x20
AN J

Now locate the bottom foot of the elephant foot and
align it with the three leg rods and use three of the
included MC6S M8x20 stainless steel bolts to connect
the bottom aluminum foot to the assembly.

Make sure that everything aligns and that the
aluminum lock pin can travel freely in and out of the
assembly like intended and then tighten both the upper
three bolts and the lower three bolts. Tightening torque
of 17 Nm.

Always check the tightening torque before use. It's
recommended to use a thread lock, such as Loctite®
270 when first assembled.

MC6S M8x20

MC6S M8x20

Mounting instructions

To assemble the safety prop for the elephant foot set
up, attach the top part of the safety prop to the three
distance rods. Use three of the included MC6S M8x20
stainless steel bolts.

Do not fully tighten the three M8x20 bolts at this step.

Now locate the bottom part of the safety prop to the
other end of the three rods and use the last three

MCBS M8x20

MC8S M8x20

MC6S M8x20 stainless steel bolts to connect the
bottom part to the full assembly.

Make sure that everything aligns and then tighten both
the upper and lower bolts. Tightening torque of 17 Nm.

Always check the tightening torque before use. It's
recommended to use a thread lock, such as Loctite®
270 when first assembled.

Notice, the safety props must be used at all times!

WO IONYINHOFHIINNNMMM | 200-0650Id | 8Y FONVINHOSYI IXNN

~
‘NOILYTIVLSNI OILIMY

~134 AV 3AVHVYSHO HOAVMS HO4 3LNI HVHVAS
NV NIHVMHIATIL 'ONINLSNHLNSL1IHYINYS
OIANYAQON VANYANY QILTTV L1V 71111 3S "¥3L
-43dX3 AV SYHO4LN LSVANI ¥Yd NINOILY]
“IVLSNI 'VOITTQW HOAVMSNOSH3d HOO d0d
“VMSSWOANIOT "HOMOATO dY LVIINS3Y L13
INOS 'NOQ¥O4 HOO 1XNAO0YHd Yd HOAVXS VoIl HS
K'HV/\TIV VYMVYSHO NV NOILYTIVLSNI OILMY13d )

JNJOINOD NON NOILYTIVLSNLA SYO N3 h
319VSNOJdSIY ¥NOd NNIL 3413 LN3d 3N LNVO
-l¥gvd 37 'SIHIVSSIOIAN JL-NDIS 30 SINIW
-3dIND3 S31 SNOL ¥3SITLN SYNOrnoL 3a
SNOA-Z3YNSSY 'S1y3dX3 S3A ¥vd 33N103343
3413  INIW3NOINN  110d  NOILLVTIVLSNII
'§319ISSOd LNOS S317340d¥00 $34Nnss3g
$30 13 STIN™ILYN S1YOIA S3A ‘SLNIAAIOOY
S34 'LN3INDISNOD ¥vd "IINOIHIA 31 13 1ind
-Odd I1¥NS XNIIHIAS STIOVIWNOA S3A ¥INDOA
-0dd LN3d INHO4NOD NON NOILVTIVLSNI 3NN

J

'VLO3HHOONI NQIOVIVLSNI VNN
¥Od sOAvSNVYO SONVA SO1 3d 379VSNOJS
-34 30VH 3S ON 3LNVOIdgvd 13 "Ol¥vYS3O3N
avardNo3s 3d 0dIN03 73 0A0L IYdNIIS ¥VZ
-I11LN 30 3SIHYOIOHID "SOLH3dX3 HOd VavzZI1
-V34 ¥3S 3930 OT0S NOIOVIVLSNI V1 ‘STTYN
-0S¥3d SINOISTT A STTVIYILYN SONVA ‘SIL
-N3AI00V N3LN3ISIdd 3S INO 319vdodd S3

‘VIONINOISNOO OWOD "OINJJHIA TV OWOD
0L0NA0¥d TV OLNVL SONVA SOIY3S ¥VYSNVO SH
303Nd  VLO3YYOONI  NOIOVIVLSNI VNN

"JOVLINOW ILHOTHIDHOVH LHOIN HOYNA
N3AYHOS d¥Nd4 1HOIN 13.4VH ¥3773LSH3IH
¥30d 'NIOTOHHI ONNLSNUSNVSLIIHYIHOIS
N3IOIONIMLION  ¥3a LN  TYNOSH3IdHOVH
S3LINHOSIO HOYNA ¥NN J¥va NVENIZ ¥3d
"HOITOQW NIAYHOSNINOSHId ANN -HOVS

NINNOM NOILYTIVLSNI ¥3YYWIOHOVSNN 138

‘37TY4NN ANIS NISSIAIDTOANI ‘NIHILSINI
HYOLOW ANN LMNAOYd NV N3AYHOS 3H3IMHIOS

N
( "NOILYTIVLSNI ¥3d0ddNI A8 d3SNVD
3OVNVA ¥O4 378VIT 1ON Sl ¥3d¥Niovd
ANV 3HL ININDIND3  AL34VS AY¥VSS3O
-3N TV 3SN SAVMTVY OL 3¥NS MV 'SLE3d
-X3 A8 LNO A31dYVO 39 AINO AVIN NOILY1
TIVASNI '378ISSOd 34V AINCNI TYNOSHId ANV

JOVAVA ALYIHO¥d ‘'SINIAIO0Y 'LINSINH V SY
"FI0IH3A ANV LONAOY¥d 3HL OL 3IOVINVA SN N3
\'OIHES 3SNVYO NVO NOILVTIVLSNI LOFHHOONI

'3 /nukeperformance

#nukeperformance

G /nukeperformance

Information :

For more information about our brand, our products, our history,
our dealers, our conditions and technical documentation, visit
www.nukeperformance.com or contact your local dealer. This
product is developed, designed and manufactured in-house by
Nuke Performance AB in Sweden. Make sure to use lubricant
before tightening fittings and always use extra care when
handling any kind of fuel. All of our products are installed at your
own risk and could damage your equipment, engine or vehicle if
not properly installed.

© Nuke Performance AB, Sweden
www.nukeperformance.com

Jawiepsip A1sjes

Product
Manual

Air Jack 90 Competition

Elephant Foot
590-02-101

SWEDENSUEDESUECIASCHWEDENSVERIGE &=



Elephant foot instruction

@&

CLOSED

P

AN J

POSITIONING OF THE ELEPHANT FOOT :

When the air jack setup is raised in its top position, still
under pressure, locate the elephant foot around the Air
Jack raised piston.

All three or four air jacks must be fully raised and all
used air jacks must utilize an elephant foot. Make sure
that the elephant foot is on an even surface and at a
perfect angle against the raised piston, elephant feet
must not be used on an uneven surface.

X
b

LOWER THE VEHICLE ONTO THE ELEPHANT FEET :

By releasing the pressure within the air jack system,
the vehicle will lower itself over the elephant foot,
when lowered onto the top of the elephant foot, the
piston will raise up into its top position.

Make sure that the air jack piston can raise without
interfearing with the elephant foot.

The vehicle should now be resting on the top of the
elephant feet and the air jack foot should be located in
its top position.

If the foot isn’t able to raise fully, you must fill the
system with pressure and raise the vehicle again and
try to relocate the elephant foot to an ideal position.

G

LOCK THE PIN INTO POSITION :

Now relocate the locking pin into its most inner
position possible. The handle should go all the way
into the main body and the end of the pin should be
aligned with the outer diameter on the opposite side.

Notice that if the locking pin is not located in its intend-
ed position when continuing, the risk of injury is
imminent for both mechanic / driver and vehicle.

G

SECOND STAGE LIFT :

Pressurize the system and lift the vehicle into the
second stage. The air jack foot will go down and face

the lock pin and the air jack should raise into its top
position once again.

The vehicle should now be at maximum lift height and
it is of uttermost importance that the vehicle is located
on a flat surface to prevent malfunction.

Make sure there is sufficient space between any
people around and the vehicle when raising it to
prevent personal injury if malfunction when raised.

OPEN

e N
!!!!;!
ELED
N J
SAFETY PROP APPLICATION :

The vehicle must not be used in top possition without
the use of the included safety props. Never stay
beneeth the vehicle until the safety props are mounted
and the final steps are executed.

Locate the safety prop over the air jack piston, make
sure to align the safety prop into its right oriantation,
the top of the safety prop is engraved to help you
locate its intended direction.

e N
\ J
SAFETY PROP ALIGNMENT :

Align the safety prop to the elephant foot bottom part,
use the alignment scale to align the top and bottom
parts to each other in ideal position.

To maintain optimal function and safety, make sure
that the parts align before continuing to the next step.

A

LOWER VEHICLE ONTO ELEPHANT FEET :

Lower the vehicle onto the elephant feet, the vehicle
must be resting onto the elephant feet when in use.
First when the vehicle is immersed, the elephant feet
locks and maximum stability is achieved.

Ve

Make sure that the vehicle is supported upon the
elephant feet before operating any maintenance.

ELEPHANT FEET DISASSEMBLY :

When ready, follow the previous steps in the opposite
order. Make sure to follow all the steps at all times.

1. Raise the vehicle from the safety props.

2. Disassemble the safety props.

3. Lower the vehicle onto the elephant feet.

4. When lowered, pull out the locking pin.

5. Pressurize the system and the piston will go down
onto the ground. Make sure that the air jack is free
from the elephant feet.

6. Disassemble the elephant feet from the air jack
piston and lower the car onto the ground.

Legal and conditions

NUKE PERFORMANCE CONDITIONS :

By installing the product, you accept the conditions set
by the manufacturer. The manufacturer accepts no
responsibility for how the installation is carried out, nor
for any damage or accidents that may occur. Please
note that the use of the product is intended solely for
motorsport use.

Nuke Performance AB, Sweden — All rights reserved.



